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numerical order? Use your calculator carefully! 6 7 and 8s
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Look at: the numbers below. Can you work out the 7
You can use the place value grid below to help you!

§21.2 x 100
£189 + 10
{128 x 10

£ 1900 + 100

i 243 x 1000
1025 +10

§ 12345 x 1000



[image: image6.png]Can you write out the tlmes tables you are learning using
multi colours?

Mulki celbeuwred. x tables
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b x_= =L = b x_=
5x_= =5 = 5x_=
6 x_= =6 = 6 x_=
7 x_= =7 = 7 x_=
8 x_= +8 = 8 x_=
9Qx_= +9 = 9Qx_=
10 x_= =10 = 10 x_=
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Draw a line To match the sum to the anewerl
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[image: image12.png]Write out ¢ of your fimes Tobles

Leave uritil fomorrow




[image: image13.png]Draw 9 different shapes in The borces below, New write your x Tables inside s
different S}.ape so that it fits naaﬁ;‘!
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[image: image15.png]Can you write your times tables out in three different ways?
How will you do it? Di¢ferent colours? Different handwriting?
Different sizes? You choose!




[image: image16.png]@)@L'u. Lgalng I LOLE D




[image: image17.png]


[image: image18.png]5
£
J,
8
Egz

_______________ I

REC =l :.
5 1 2 |
5 ! : Q = i
5x2 | A I’
! -
| 5x2= | o epn | '|
15x2=1 : 1




[image: image19.png]. Can you write your x tables in
aspiral shape?
Have a go in the boxes below!
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